. Divide:

(22* — 102° + 292* + 40) + (z* — 2z + 5)

. True or false: The set of all polynomials is closed under
multiplication. Be prepared to defend your answer!

. True or false: The set of all polynomials is closed under
division. Be prepared to defend your answer!

. Divide:

(2334 — 10x3 + 2922 + 40) e (:132 — 2z + 5)

. True or false: The set of all polynomials is closed under
multiplication. Be prepared to defend your answer!

. True or false: The set of all polynomials is closed under
division. Be prepared to defend your answer!




